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OSUN STATE TEACHERS RECRUITMENT PAST 
QUESTIONS AND ANSWERS 

 

 
SESSION A 

1. Who is the Osun State Commissioner for Ministry of 
Education? 

A. Hon. Oladoyin Olayinka Folorunso 
B. Hon. Olamide Segun 
C. Hon. Adebisi Popoola Bolaji 
D. Hon. Mary Ganiyu 

2. Which of the government bodies below is Mainly responsible 
for educational sector in Osun State? 
A. Osun State Universal Basic Education Board 
B. Osun State Teaching Service Commission (TESCOM) 
C. Osun State Ministry of Education 
D. Osun State Educational Coordinating Board 

3. The structure of Osun SUBEB is derived from? 
A. TESCOM Act 2011 
B. UBE Act 2014 
C. Ministry of Education Act 1999 
D. Educational Commission Act 2001 
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4. What are the two main categories of funds that SUBEBs access 
from UBEC? 
A. Conditional Grant and Non Conditional Grant 
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B. Funding Grant and Management Grant 
C. Academic Grant and Non Academic Grant 
D. Yearly Grant and Periodic Grant 

5. What year was Osun SUBEB established? 
A. 2004 
B. 2005 
C. 2006 
D. 2007 
6. The federal agency that manages the affairs of states SUBEB, 
including Osun state is called? 
A. Federal Ministry of Education 
B. Federal Universal Basic Education Board 
C. National Assembly 
D. National Universal Basic Education Commission 

7. What is the new slogan of Osun State? 
A. Land of the Living Spring 
B. Land of Harmony 
C. Land of Virtues 
D. Land of Equity 

8. What is the Former slogan of Osun State? 
A. Land of the Living Spring 
B. Land of Harmony 
C. Land of Virtues 
D. Land of Equity 

9. What is the total number of teachers recruited by the present 
administration in Osun State? 
A. 6,412 
B. 5,000 
C. 3,400 
D. 3,230 
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10. The two elephants in Osun State coat of arm symbolises what? 
A. Liberty, Justice and Service 
B. Justice, Equity and Freedom 
C. Strength, Service and Humility 
D. Bravery, Leadership and Strength 

ANSWERS TO SESSION A 
1. A 
2. C 
3. B 
4. B 
5. B 
6. D 
7. C 
8. A 
9. D 
10. C 

SESSION B 

NOTE: Correct Answers are written in red font colour 

 

1. Tools that drive appropriate education for learners with 
disabilities. 
a) Open 
b) Inclusive Education 
c) Individualized Education & Family Service Programmes 
d) Group Educational Programmes 
2. Principles of organizing includes the following except---- 
a) Evaluation 
b) Cooperation 
c) Unity of Objective 
d) Diversity of Objective. 
3. The following are examples of the new book of knowledge 
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(NBK) 
a) Specialized Encyclopedia 
b) General Dictionary 
c) General Encyclopedia 
d) Subject Directory 
4. “Impressions made upon the children at home determines the 
child’s personality”, is a 
concept of--- 
a) Para-analysis 
b) Socio-analysis 
c) Psycho-analysis 
d) Psycholinguistics 
5. Tools that aid the education of the visually impaired exclude the 
following... 
a) Talking Calculator 
b) The Braille 
c) Simulations 
d) Duxbury word processor 
6. The import of research in special need education excludes to--- 
a) Evaluate authenticity of concepts in the field. 
b) Assess effects of beliefs and decisions 
c) Assess effectiveness of programme 
d) Contribute theories in the field 
7. Enculturation indicates 
a) Cultivation of culture 
b) Cultural Mix 
c) Internalization of Native culture 
d) Cultural Change 
8. Express 3⁄4 as a decimal fraction 
{a} 0.85 {b} 0.75 {c} 0.65 {0.45} 

 

9. Dominant large class sizes especially in Nigerian schools can be 
curbed using 
Montessori’s model of--- 
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a) Freedom of the child 
b) Individualized Instruction 
c) Professional Training of Teachers 
d) Sensory and Physical exercise 
10. “Ultimate Reality” in view of idealist is 
a) Physical 
b) Mental 
c) Material 
d) Objective 
11. Environment of effective classroom interaction is 
a) Noisy 
b) Silent 
c) Interactive 
d) Engaging 
12. George Orwell’s Animal Farm” is a classic example of--- 
a) Injustice 
b) Social Stratification 
c) Injustice 
d) Social Diversity 
13. Find the simple interest of N700 for 2 years at 3% per annum 
{a} 32 {b} 42 {c} 52 {d} 62 
14. The doctrine of “Melorism” advocated by Dewey holds that 
a) Selfishness is in Man 
b) The universe is neither bad or good, but can be improved 
through education 
c) The universe is good 
d) Education is good 
15. Which of the theories most emphasize the teachers role 
a) Cognitive 
b) Behaviorism 
c) Gestalt 
d) Instructional Theory 
16. Professional prerequisites to practice as a teacher excludes 
a) Possession of professional certificate 
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b) Possession of practicing license 
c) Possession of subject qualification and teaching qualification 

d) Possession of good higher degrees 
17. In 1771 which of the following researcher propounded that the 
blind could read and 
write by using his/her fingers? 
a) Nightingale 
b) Valentine Haye 
c) Iean Itard 
d) Marcus Haye 
18. In the library, the call number is critical to 
a) Lending 
b) Shelving 
c) Retrieval 
d) Cataloguing 
19. Which of this best explains the coordination of human and 
material resources towards 
achievement of diverse organizational goals? 
a) Administration 
b) Management 
c) Auditing 
d) Directing 
20. Sociological studies affirms that 
a) Children exposed to permissive discipline are conforming and 
more dependent 
b) Children exposed to restrictive disciplines are conforming and 
more dependent 
c) The more the parents discipline, the more the child’s cognitive 
development 
d) The more severe the discipline, the more the child conforms. 
21. Convert 3210 to a binary number. 
a) 10002 
b) 1000/2 
c) 100002 
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d) 1000002 
22. Key component of defining intellectual retardation exclude 
which of these variables 
a) Nomenclature 
b) Intellectual Function 
c) Systems Support 
d) Adaptive Behavior 
23. The wild boy of Aveyron found in the wood was treated by--- 
a) Jean Itard 
b) Douglas Hill 
c) Mary Slessor 
d) Aristotle 
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24. Abstractions and indexing services in the library is aided by 
activities of 
a) Circulation 
b) Bibliography 
c) Cataloging 
d) Support Services 
25. Types of division of labour common to organizations are 
categorized as 

a) Structured 
b) Unstructured 
c) Vertical 
d) Vertical or Horizontal 
26. Convert 11012 to base 10 
a) 3110 
b) 1310 
c) 3310 
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d) 2310 
27. In English writing, replacing “and” with “&” is called 
a) Abbreviation 
b) Short form 
c) Ampersand 
28. A test whose expected learning outcome is limited to WAEC 
curriculum is called 
a) Achievement test 
b) Norm referenced test 
c) Standard test 
d) Teacher made test 
29. Plato believe that ultimate reality is 
a) Knowledge 
b) Virtue 
c) Poison 
d) Physical things 
30. The traditionalist view curriculum as 
a) Organized knowledge learners must learn 
b) Innate knowledge learners should be guided 
c) Societal Expectations to acquire 
d) Societal Needs to learn 
31. The bi-system classification of curriculum is the--- 
a) Assignment Of Subjects To Different Classes 
b) Assignment Of Learners Into Classes 

PASTQUESTIONPAPER.COM.NG 

For More Exam Past Questions & Answers, Visit: 
https://pastquestionpapers.com.ng Inq: 08029020121 

c) Assignment Of Teachers Into Different Subjects 
d) Assignment Of Subjects Into Time 
32. "Difficulty to participate in group tasks", "Low frustration to 
tolerance." 
"Followers rather than leaders" are characteristics of 
a) Intellectual Characteristics Of Intellectual Retardation 
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b) Social Characteristics Of Intellectual Retardation 
c) Academic Characteristics Of Intellectual Retardation 
d) General Characteristics Of Intellectual Retardation 
33. Which of the following wrote "My Pedagogical Creed?' 
a) John Dewey 
b) John Locke 
c) Aristotle 
d) Plato 
34. The difference between Wheeler and Tyler's elements of 
curriculum is that 

a) both have four elements 
b) both have organization of learning experience and content with 
respect to 
attainment of goals 
c) Wheelers has five elements, but Tyler's has four elements of 
curriculum 
d) they both do not evaluate all aspects of other elements 
35.Repeated arguments against curriculum development in 
Nigeria is the 
a) non participation at the local government level 
b) non participation at the state level 
c) non participation at the federal level 
d) non participation by implementers 
36. Which of the following special need disability classification is 
most difficult to 
identify and define? 
a) intellectual disability 
b) Learning disability 
c) emotional disability 
d) autism 
37. Research holds that autism approximately affects 
a) 1 in 50 children 
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b) 1 in 500 children 
c) 1 in 1000 children 
d) 1 in 200 children 
38. The belief that "Governments are not established to maintain 
the rights of the 
ruling class, but designed for the happiness and welfare of men" is 
linked to 
a) Plato 
b) John Lock 
c) Aristotle 
d) Dewey 
39. The child's mind being a "tabula rasa" at birth is a concept of 
a) Abraham Maslow 
b) Lincoln 
c) John Locke 

d) Karl Marx 
40. Similarities existing in Nigeria and England educational 
systems is in which of the 
following areas 

a) private individuals run educational institutions beyond primary 
schools 
b) private individuals can run educational institutions to primary 
school level 
c) religious bodies are involved in running educational 
institutions 
d) Nigeria and England educational calendar are similar 
41. The criteria for assessing student teachers' practical exclude 
the following 
a) introduction 
b) examination 
c) interaction 
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d) conclusion 
42. Elements of team teaching exclude the following 
a) formalized arrangement 
b) joint planning 
c) two or more professionals 
d) student teachers 
43. Pioneers of comparative education exclude the 
following 
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a) John Griscom 
b) Victor Cousin 
c) Austin Saunders 
d) Horrace Mann 
44. The doctrine of "reasoning" which gave foundation of 
researches is associated 
with 
a) Aristotle 
b) Plato 
c) John Locke 
d) Maslow 
45. Inferential statistics exclude the following... 
a) chi square 
b) variance 
c) mode 
d) kurtios 
46. The application of philosophical approach to comparative 
education is associated 
with 
a) Julius Nyerere 
b) Rasmos Sergius Hassan 
c) Serguis Hassan 
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d) Hegel 
47. UNESCO classification of countries in the E-9 group of 
countries with very high 
numbers of illiteracy exclude the following 
a) Indonesia 
b) Pakistan 
c) Bangladesh 
d) Cameroon 
48. The universal design enhances access to 
a) environment and community 
b) Intensive education and community 
c) technology and community 
d) society and community 
49. Which of the following computer networks does no' use the 
global system? 
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a) intranet 
b) google 
c) info(atrcn.gov.ng 
d) www.trcn.gov.ng 
50. Teacher education curriculum is designed particularly to equip 
trainee teachers 
with knowledge and skills in the following except 

a) liberal knowledge 
b) subject knowledge 
c) scientific knowledge 
d) professional knowledge 
51.Effective classroom interaction is 
a) silent 
b) noisy 
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c) interactive 
d) disengaging 
52. The essence of guidance and counseling in Nigeria exclude 
which of the following? 
a) adjustment and growing needs of youths 
b) changes in educational system 
c) increasing societal vices 
d) problems of democratic participation 
53.Counseling theories exclude the following 

a) Psychoanalytic 
b) client centered 
c) reliability 
d) validation 
54. The realignment of basic school curriculum which integrated 
certain school 
subjects towards vocational bent in Nigeria can be said to be a 
a) threat 
b) strength 
c) weakness 
d) opportunity 
55. Median most serious defect is that 
a) it is infraction 
b) it is difficult 
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c) it is skewed 
d) it is simple 
56. Scientific approach in thinking implies 
a) individualized thinking 
b) group thinking 
c) dogmatic thinking 
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d) technical thinking 
57. The implication of "successive stage" of growth to 
learning is that 
a) the stages of educational attainment if rigid 
b) educational material should be presented in bits 
c) learners adequate preparation in a class is necessary for his/her 
promotion to 
next level 
d) learners age should determine the categorization of 
his/her school type 
58. Cognitive theory emphasizes activities of 
a) mental processes involved in human behavior 
b) mental processes involved in perception 
c) mental processes in acquiring, storing and using knowledge 
d) mental capacities to recognize 
59. Learning in the psychomotor domain is measured by 
a) aptitude test 
b) performance test 
c) achievement test 
d) intelligence test 
60. Features of a good measurement scale exclude 
a) equal intervals 
b) absolute zero point 
c) direction 
d) approximation 
61) Curriculum traditionalists school of thoughts exclude 
a) essentialists 
b) pragmatists 
c) discipline advocates 
d) perenialists 

 

62) Research modes exclude the following 
a) contract 
b) consultant 
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c) sponsored 
d) occupational 
63) Educational differences between Nigeria and Japan is mainly 
that 
a) Three tier administrations exists in both 
b) Graduates of Junior secondary schools can go to colleges of 
technology 
c) Public school education to all levels in both -countries is not 
free 
d) Maintaining educational standards is centralized in roth 
countries education in 
Nigeria is free 
64) A condition that occurs when new traits of 
Tradition, values and custom emerge to replace old ones can be 
referred to as 
a) cultural lag 
b) cultural norm 
c) cultural change 
d) cultural freedom 
65) The contest between one culture and another to range existing 
culture can 
technically be referred to 
a) acculturation 
b) cultural change 
c) cultural dispute 
d) cultural lag 
66) A research on the effects of smoking on two 
variables (male and female gender) is 
a) continuous 
b) constant 
c) Flexible 
d) Categorical 
67) The school is an example of 
a) one social class 
b) two social class 
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c) multiple social class 
d) inter disciplinary class 

 

68) The mobilization of resources towards achievement of 
organizations' goals 
defines 
a) administration 
b) management 
c) organization 
d) business unit 
69) Charges are placed for overdue books in the library by which 
of the 
following sections 
a) Catalogue 
b) reference 
c) Circulation 
d) Lending 
70) Calculate the range of the following numbers 4, 2, 
5,11, 19, 23. 
a) 21 
b) 17 
c) 18 
d) 19 
71) Find the mean of 91, 68, 74, 85 and 52 
a) 74 
b) 84 
c) 94 
d) 100 
72) Identify the nearest in meaning to the underlined: the new 
radio presented put 
airs in her style 
a) shouts 

b) is lively 
c) is hardworking 
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d) is pompous 
73) Plato believes that one's class in society does not depend on 
a) accident of birth 
b) capacity 
c) merit 

d) ability 
74) Which of the following successfully educated the 'Wild boy 
found in 
Aveyron France 
a) Jean ltard 
b) Edward Seguin 
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c) Nightangle 
d) Mary Slessor 
75) "Baby Method" of educating the intellectual retarded refers to 
(a) use of pictures to indicate action 
(b) use of toys 
(c) Pronouncing a word and demonstrating it 
(d) play way method 
76) Express 5cm to metre 
(a) 0.05m (b) 0.5m (c) 0.1m (d) lm 
77) If 33% of a certain number is 1.386, what is the 42% of that 
number? 
(a) 1.968 (b) 2.089 (c) 2.189 (d) 1.764 
78) An essay that emphasizes the characteristics of a person or 
thing is an 
example of 
(a) Narrative (b) argumentative (c) descriptive 
79) Parts of a book excludes 
a) spine 
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b) content 
c) references 
d) review 
80) Sociological theory of embourgeiosement dicates that 
a) education increases stability 
b) increase in education, increases inter-generational mobility 
c) the higher the education, the lower the sire and opportunity for 
mobility, 
d) education explains all man's problem in society 
81) Problems confronting English learners in Nigeria exclude the 
following 
(a) mother tongue interference 
(b) use of out dated phrases 
(c) changing English usage 
(d) British influence in Nigeria 

82) Water-down approach of educating children with special 
needs requires 
a) use of water related elements in teaching 
b) visit to coastal areas on excursion 
c) waterfalls simulations in teaching 
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d) teaching from simple to complex 
83) Everything is provisional; nothing is ultimate, knowledge is a 
means, not an end 
itself-but instrumental". Above concept is credited to 
a) Dewey 
b) Pierce 
c) Plato 
d) Socrates 
84) The Nigerian aims of education, physical, moral and 
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intellectual development of 
the child is a concept traced to 
a) Plato 
b) John Locke 
c) Athens 
d) Romans 
85) Methods of educating children with intellectual 
Retardation exclude, 
a) physiological method 
b) permissive method 
c) picture exchange 
d) text exchange 
86) Which of the following is not a behaviorist theorist 
a) Ivan Pavlov 
b) R.L Thorndike 
c) B.F Skinner 
d) A.K Watson 
87) My sister me some money to complete my school fees 
a) learnt 
b) loaned 
c) borrowed 
d) text 
88) "Odyssey and the Iliad" is a classic composed by the following 
8th century 
visually impaired (blindman). 
(a) Homer 
(b) Stevie Wonder 
(c) Julius Caesar 

(d) Nicholas Sanders 

89) In building a socially acceptable person, other agents rely on 
which of the 
following critical education agent? 
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(a) family 
(b) Basic school 
(c) Religion 
(d) Media 
90) Plato's identification of three classes of people in society 
excludes 
which of the following 
(a) the common people 
(b) the guardian 
(c) the angels 

(d) the auxiliary (military) 

91) Peoples' day to day practices can be referred to as 
a) Daily culture 
b) Ideal culture 
c) real culture 
d) personal culture 
92) Nigeria's first secondary school was 

(a) St. Andrews College Oyo 
(b) Ibadan Government college 
(c) CMS Grammer school Lagos 

(d) Lord Lugard College Calabar 

93) The psychoanalytic personality theory believes that 

(a)man's mental actions are interpreted socially 
(b) Man's mental activities are only subject to super ego 
© mans mental activities can be explained by actions of ego 
(d) Humans mental activities could be described in terms of 
influence of id, ego and 
super ego. 
94) Intellectual retardation traceable to the use of forceps or non 
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provision of oxygen 
can be categorized as 
(a) perinatal 
(b) post natal 
(c) expost natal 
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(d) prenatal 
95) Islam came to Nigeria in 
a) 12"' century 
b) 15th century 
c) llth century 
d) 6th century 

96) Proponents of pragmatism as philosophical school of thought 
exclude 
(a) Plato 
(b) John Dewey 
(c) Parmenides 
(d) C.S Pierce 
97) Efforts to solve large class sizes in Nigeria exclude the use of 
(a) e-learning 
(b) NTI 
(c) Distant and open education 
(d) Conventional laerning 
98) The child's skills develops from crude and diffuse mass action 
to specific 
response describes 
a) Growth 
b) Skill 
c) Readiness 
d) Cause Effect 
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99) The first Nigerian sub-inspector of protectorate of Lagos was 
(a) Lord Luggard 
(b) Henry car 
(c) Ajayi Crowther 
(d) Flora Shaw 
100) Evidence of learning in the cognitive domain can be 
measured by 
(a) Achievement test 
(b) Aptitude test 
(c) Intelligence test 
(d) Performance test 
101) One billion has how many zeros ____ (a) 9 (b)3 (c)12 (d)6 
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102) Gifted and talented learners are often categorized as follows 
except 
(a) prodigious (b) classic 
(c)gifted (d) precocious 
103) Which of the following is the first education law which spelt 
out that a person 
must be a qualified and registered teacher before he could be 
employed to teach in 
Nigeria? 
(a)TRCN Act 31 of 1993. (b) 1882 education ordinance (C)1926 
education ordinance 
(d)1977 national policy on education 
104) Throughout history every normal human being belongs to a 
(a) religion (b) family (c) school (d) profession 
105) Which of the following is regarded as the father of realism, as 
a philosophic 
school of thought? 
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(a) Aristotle (b) Plato 
(c) John Dewey (d) John Don 
106) The notion that natural causes and laws explain all 
phenomena and not 
supernatural/divine is which philosophic school of thought? 
(a) realism (b) naturalism 
(c) existentialism (d) pragmatism 
107) The following is not among guidance programmes found in 
schools 
(a) oriental and appraisal 
(b) communication and dismissal C. counseling and referral 

108) In the year during Mungo Park's second 
missionary journey to Africa, he was attacked and 
drowned in a town called 
(a) 1796/Lokoja (b) 1805/Bussa 
(C)796/Lagos (d) 1805/Benue 
109) Factors to consider in the selection of instructional materials 
exclude the 
following (a) Lesson objectives (b) availability 
(c) Relevance (d) teachers interest 
110) CAPCHA refers to 
(a) catch children young in Africa 
(b) Unique identification code (C)capitalization code in key board 
(c) ancient cap style 
111) The table of specification indicates 
(a) marking scheme (b) table of instruction 

 

c) how marks will be awarded based on cognitive 
areas (d) Identical tables 
112) The statement of problem does not identify which of the 
following 
(a)activities and related factors of research 
(b)problems to be encountered and to solve the research 
(c)problems to be recommended for solution 
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(d)problems other research have solved 
113) Slave trade was abolished in the year 
(a) 1900 (b) 1833 (c) 1850 (d) 1880 
114) Which of the following is not correct 

(a) principles of educational technology can only solve problems 
at macro level 
(b) principles of instructional technology can only be applied to 
solve problem at 
micro level 
(c) principles of instructional technology can be applied to solve 
educational problem 
(d) principles of instructional technology can be 
applied at macro and micro levels 
115) Areas of cognitive domain exclude which of the following 
(a) discipline (b) morality 
(c) ability (d) relationship 
116) Measures of dispersion consists of the following except 
(a) range 
b) quartile deviation 
(c) semi inter-percentile range 
(d) population distribution 
117) Charging system operational in library exclude 
(a) Newark (b) penny token (d) Browne 
118) Efforts at universal definition of the curriculum is difficult 
due to 
(a) Changing nature of knowledge 
(b) Changing conception of learners 
(c)Changing societal expectations 
(d)Changing learning processes 
119) A research type that can be used to analyze opinions, 
thoughts, and feelings 
is 
a) Scientific 
b) Historical 
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c) Survey 
d) Case study 
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120) The fake doctor is "a gentle man of the road" 
contains what figure of speech 
A. Euphemism B. Irony 
C. Metaphor D. Paradox 
121) Find the mean of 91, 68, 74, 85, 52 
A. 74 B. 84 C. 94 D. 64 
122) For education rules or policies to become Laws 
fey must pass through 
A. Courts B. Presidential accents 
C. Legislative processes D. Cooperate Affairs 
123) Regional control of education in Nigeria began in 
. ...... and ended in A. 1900/1914 
B. 1908 /1960 
C. 1914 /1919 
D. 1908/ 1999 
124) Realia is an instructional material requiring use 
A. Schematization 
B. artificial objects 
C. real object 
D. Available objects 
125) The application of scientific knowledge in classrooms for 
learning refers to 
A. Learning Technology B. Instructional Technology 
C. Classroom Technology D. Scientific Technology 
126) Technology in Education refers to 
A. Application of equipment to improve education 
B. Application of education to improve technology 
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C. Application of technology in instructions 
D. Application of theories and education rules to improve 
education 
127) Which of the following is a major problem which hinders the 
implementation of 
education policies in Nigeria? 
A. Lack of data 
B. Lack of personnel 
C. Lack of political will 
D. Knowledge of the issue 
128) The ego adopts the following defense mechanism to cushion 
the effects of anxiety 
generated by various aspects of personality EXCEPT 
A. Repression B. Suppression 

PASTQUESTIONPAPER.COM.NG 

For More Exam Past Questions & Answers, Visit: 
https://pastquestionpapers.com.ng Inq: 08029020121 

 

C. Sublimation D. Rationalization 
129) Which of these is not a factor that hindered early 
introduction of Western Education in 
Northern Nigeria? 
A. Geographical B. Political C. Religion D. Ethnicity 
130) The following methods are used for teaching 
the hearing impaired except 
A. Sign language B. Finger spelling 
C. Word processor D. lip/speech reading 
131) Distance learning can be classified as following except 
A.Correspondence education 
B.Independent education 
C.Institutional broadcast 
D.Indirect education 
132) Teaching method can be referred to as 
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A. Teaching Professionalism 
B. Teaching Plan 
C. Teaching Experience 
D. Pedagogical Experience 
133) Teachers Registration Council of Nigeria mandates exclude 
A.Conducting Teachers Professional 
B.Determining who is a teacher 
C.Registering, certifying and licensing teachers 
D.Teachers employment and promotion 
134) In modern teaching and learning the teacher is 
A.a purveyor of knowledge 
B.a director 
C.a facilitator 
D.controller 
135) Types of counseling services can be as 
A.Vocational, personal and public 
B.Vocational, psychological and social 
C.Vocational, education and personal 
D.Religious Social and educational 
136) Which of these is not a prime factor: A. 7 B. 3 C. 5 D. 9 

 
137) Approximate 13.072 to 3 significant figures: 
A. 12.7 B. 13.07 C. 13.072 D. 13.1 

138) In Edgar Dale's cone of experience the lowest and highest 
levels are 
A.Indirect experience and visual symbols 
B.Contrived experience and demonstration 
C.Direct real experience and verbal symbols 
D.Verbal symbols and visual symbols 
139) The acronym AFTRA stands for 
A. African forum of Teachers registration authority 
B. Africa forum of Teaching regulating authorities 
C. African forum of Teaching regulating authorities 
D. Africa front for Teaching regulating in Africa 
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140) The problem confronting the study of comparative education 
excludes which of the 
following: 
A. Geographical B. Language 
C. Cultural D. Vocational 
141) The constitutional responsibility of the control of basic 
education in Nigeria is vested 
with 
A. The State Government B. Federal Government C. Local 
Government D. The 

Municipal 
142) Characteristics of a good curriculum exclude the 
following 
A. Purposefulness B. Rigidity 
C. Relevance D. Flexibility 
143) Pragmatism, as a philosophic idea was initiated by ( 
A. Dewey B. Locke 1 
C. C.S Pierce D. Socrates 
144) The objective of the Nigeria philosophy of education is 
dominated by the following 
philosophic school of thought 
A. Realism B. Pragmatics 
C. Idealism D. Existentialism 
145) The following are some characteristics exhibited by gifted 
learners except 
A.Learns new materials faster and earlier than age mates 
B.Remembers what is learnt with little or no need for revision 
C.Passionate about one or more topics and spends available time 
learning about the topic 
D.Spends long time revising his lectures to commit 

 

146) "Pragmatism" means 
A. Find and critique 
B. Practice and invent 
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C. Find, analyze and conclude 
D.Do, practice and discover 
147) Programme for educating the cattle herdsme exclude 
A.Construction of Permanent classrooms 
B.Provision of mobile classrooms 
C.Encouraging herdsmen to send children to 
D.Encouraging them to read and write 
148) Categories of social stratification exclude: 
A. Marriage B. Power 
C. Class D. Status 
149) Human beings are called social products because 
A. They live as a family 
B. They live in villages 
C. They go to school 
D. They take care of themselves 
150) Which of the following decides the narrative in a story 
A. Author B. Editor 
C. The reviewer D. A poet 
151) Speech disorders may be classified according 
the following except 
A. Fluency B. Language 
C. Voice D. Communication 
152) Some characteristics common to a.'l organizations exclude 
which of these 
A. Division of labour B. Purpose of tasks 
C. Resources D. Formality 
153) The trade union is an example of 
A. Formal organization 
B. Informal organization 
C. Social organization 
D. Non formal organization 
154) Books stored in the library for use on special cases are called 
A. References B. Catalogue 
C. Periodical D. journals 
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155) The curriculum for the gifted learners can be 
modified along the following areas except 
A. Content B. Environment 
C. Term duration D. Process 
156) The first purely, Nigeria education ordinance 
was passed in 
A. 1887 B. 1882 C. 1900 D. 1914 
157) Curriculum planning is an activity of 
A. Evaluation B. Previous knowledge 
C. New thinking D. Summarization 
158) Rapport in teaching is an activity of 
A. Evaluation B. Introduction 
C. Conclusion D. Main instruction 
159) The history of education Laws in Nigeria dates 
back to 
A. 1842 B. 1882 C. 1887 D. 1914 
160) The idea of the school being primarily a social 
institution is credited to 
A.Plato 
B.Aristotle 
C.Dewey 
D.Montessori 

161) Some of the problems that characterize Nigeria society 
arising from social stratification 
exclude 
A. Ethnicity B. Religion diversity 
C. Industrial actions D. Unity in diversity 
162) Don't you like onions? 
A Yes, I don't B. Yes, I do 
C. No I do D. No, I did 
163) The learner who just completed a class lesson 
has the information stored in 
A. Long term memory 
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B. Short term memory 
C.Midterm memory 
D.acuitic Memory 

164) Dewey's concept of the application of science and industrial 
art as well as social factors 
is embraced in Nigeria educational system in the following ways 
except 
A.Vocational education 
B.6-3-3-4 system 
C.Polytechnic education 

 

 
D.Mass education 
165) The wild boy found in Aveyron (France) was called A. Moley 
B. Victor C. Jim D. 
Haruna 
166) Findings of behaviorist theorists on learning exclude the 
following 
A. Learning is mechanical 
B. Learning takes place through trial and error 
C. Learning is permanent 

167) Wheelers curriculum model can be described A. Vertical B. 
Cyclic C. Horizontal D. 
Didactic 
168) The totally blind person has a visual accir. :ff 
A. 100/100 B. 20/200 
C. 30/300 D. 0/100 
169) Patterns of behavior members of society pass 
to its generations can be referred to as 
A. Culture B. Socialisation 
C. Stratification D. Morality 
170) The first establishment of a department of education (with 
full director) in Nigeria is 
traced to | the education ordinance of 

http://www.careerom.com/
http://www.careerom.com/


  www.careerom.com
  

Follow us:  
Twitter: Careerom_ Facebook: CareerOM Instagram: Careerom_  

A. 1882 B. 1857 C. 1890 D.1908 
171) The first education Law that enhanced the status of teaching 
profession and stipulated 
minimum salary to Qualified and registered teachers, in Nigeria 
was in 
A. 1926 B. 1882 C. 1908 D. 
172) The importance of Guidance and Counseling exclude which 
of the following 

A. It helps individuals understand themselves 
B. It helps learners understand themselves 
C. Through guidance individual uniqueness is emphasized 
D. Guidance and counseling uses discipline to correct the learner 
173) The Laws of valid reasoning defines which of the following 
A Induction 
B.Premises 
C.Logic 
D.Proposition 
174) Research classification according to form is not which of the 
following 
A. Historical B. Descriptive 
C. Experimental D. Social 
175) Primary source of data exclude which of the following 
A.Research finding 
B.Journals 

 

C.Magazine 
D.Expert opinion in lecture 
176) which of these is not an inferential statistics 
A. Chi square B. Spearman 
C. Skewers D. Simple Regression 
177) Features of serials exclude the following A. They are 
published B. They have 
ISSN 
C. They come at intervals D. They are only acted 
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178) Which of the following library services helps the reader to 
identify and retrieve 
documents in any desired field 
A. Lending B. Cataloguing 
C. Referencing D. Bibliography 
179) Criterion referenced evaluation is mostly concerned with 
A. Psychomotor domain B. Cognitive domain 
C. Spiritual domain d. Affective domain 
180) In the classroom management, the teacher should be 
A. Rigid B. Flexible C. Simple D. Harsh 
181) Stages of educational development was 
introduced by 
A.Aristotle 
B.Plato 
C.Piaget 
D.Quintilanus 

182) Which of the following type of education can take place 
anywhere? 
A. Prussian Education B. Formal 
C. Informal D. Distance 
183) The value of one 9th of 81 is 
A.9 B. 81 C. 19 D. 90 
184) Historically, earliest generation of computers 
worked through electronic valve called 
A.Vacuum Valve B. Value Valve 
C. Value tube D. Vacuum tube 
185) Inductive method of education introduced by 
Aristotle implies teaching from 
A. Particular to particular 
B. General to general 
C. General to particular 
D.Particular to general 
186) In Nigeria, formal education for special 
education dates back to 
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A. 1960s B. 1950s C. 1940s D. 1930s 
8.Conflict theory is associated with the following (a) Abraham 
Maslow (b) Karl Max 

 

(c) Weber (d) Frued 
187) Which of these is not used for teaching the hearing impaired 
A. toys B. Braille paper 
C. Adjustable desk D. Sign Language 
188) Principles of operant conditioning excludes the following 

A.motivation 
B.Behaviour modification 
C.reinforcement 
D. cognition 
189) Organizations are classified as 
A.Official & Unofficial 
B.Structured & Unstructured 
C.Formal & Non formal 
D.Formal & Informal. 
190) Characteristics of a good curriculum exclude the following 
A. Appropriateness B. Flexibility 
C. Rigidity D. Relevance 
191) "Waoh! today is my birthday", is a 
A. Command B. Statement 
C. Exclamation D. Question 
192) The test type that needs a word or phrase to answer is 
referred to as 
A. Multiple Choice B. Alternative response C. Short Answer D. 
Matching game 
193) The Nigerian basic education comprises of the 
A.Three years primary and six years secondary 
B.Six years primary and six years primary 
C.Six years primary and three years junior secondary D. Nine 
years primary and secondary 
194) The best instructional method in a child friendly school is 
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(a)Drama 
(b)Play method 
(c) Child friendly method 
(d)Combination of methods 
195) Principles of educational technology are derived from 
(a)Educational theories alone 

 

(b)Technological theories 
(c)Philosophical & educational theories 
(d)Psychological & educational theories 
196) The natural reaction and drive of man and other things to 
interact with its environment 
is 
(a)Assimilation 
(b)Acculturation 
(c)Adaptation 
(d)Association 
197) Interaction types that may exist in any room exclude 
(a)Teacher student 
(b)Student-student 
(c)Peer-peer 
(d)Teacher-teacher 
198) Curriculum planning is carried out by 
(a) Teachers (b) Specialist 
(c)Stake holders (d) Subject experts 
199) Early childhood illness can be caused by these except 
(a)Poor nutrition 
(b) Unhealthy environment 
(c) Poor school care 
(d) poor health care 
200) Challenges to research in special education exclude 
(a)culture and tradition 
(b)Negative attitudes 
(c)Ethical & personal issues 
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(d)Availability of data 
201) The suitable method of teaching at the junior secondary 
school is 
(a) Project method 
(b) Play method 
(c) Lecture method 
(d)Combined method 
202) 95 divide by 40 approximately is A.2 B. 1 C. 4 D. 3 
203) Which of the following can be used to teach the learning 
impaired 
A. Paper 
B. Hearing Kit 
C. Biro D. Tape recorder 
204) Which of these research types does not give e opportunity of 
gaining new knowledge 
and theories? 
A. Basic research 
B. Applied research 

 

 
C. Academic research 
D. Pure research 
205) The renown philosopher who taught Alexander the Great 
was 
A. Aristotle 
B. Plato 
C. Socrates 
D. John Locke 
206) Spurce of research funding excludes 
A. Individual B. Supervisor 
C. Organisation D. NGO 
207) Sensory organs can be stimulated through 
A. Sensation B. perception 
C. Transfer D. Adaptation 
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208) Advantages of micro teaching exclude? 
A. Platform for student teacher's practical 
B. It supports teachers lesson 
C. Platform to assess student teacher 
D. Offers skills to would be teachers 
209) Socialization is a process whereby .individual 
acquires the desirable of its society 

A. Skills & attitude 
B. Attitude & occupation 
C. Laws & values 
D. Norms, value & expected behaviour 
210) Communication disorder excludes 
A. Articulation disorder B. Delayed speech 
C. Mouth odour D. Voice disorder 
211) Don't you like me? 
A. Yes, I don't B. Yes, I do 
C. No, I do D. Yes, I does 
261) The last stage of Tylers curriculum planning procedure is 
A. Objectives B. Evaluation 
C. learning experience D. Organisation 
262) Teacher centred method exclude the following 
A. Lecture B. Project 
C. Demonstration D. Strory telling 
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212) Educational problem in Nigeria exclude 
A. Funding B. Policy 
C. Low teachers esteem D. Private school 
provision 
213) The British rule began in Nigeria in the year 
A.1860 B.1842 C.1914 D.1800 
214) Frequency distribution can be summarised as follows except 
A. Mean B. Central tendency C. Mode D. The coefficient 
215) The wild boy in the wood was found in which country 
A. Argentina B. Britain C France D. Congo 
216) Elements of communication exclude which of the following 
A. Source B. Receiver C. 
Noise D. Language 
217) Special need education can be referred to as 
A. Education for handicap B. Inclusive education 
C. Gifted education D. Special education 
218) Philosophy of education is important due to 
A. Philosophical issues B. Educational issues C. Sociological issues 
D. Religious issues. 
219) The main functions of the library exclude the 
following 
A.Provision of access for reading 
B.Acquisition & storage of materials 
C.Organisation of materials 
D.Processing of materials 
220) The first curriculum conference in Nigeria was 
held in 
A. 1977 b. 1970 C. 1969 D.1960 
221) The Nigerian certificate in education (NCE) became the 
minimum teaching 
qualification in Nigeria in the year 
A.1960 B. 1969 C.1975 D. 1977 
222) In the study of society, the family value commonly 
emphasised is 
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A. Polygamy B. Polyandry 
C. Continuity D. Heredity 
223) Materials in the following sections of the library cannot be 
borrowed 
A. New arrivals B. Circulation materials 
C. Reference section D. Archival materials 
224) Users of library "A" can be given access to library "B" 
through 
A.Library support 
B.Inter library services 
C.Intra library services 
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225) Which of these is not a function of philosophy A. Analytic B. 
Speculative 
C. prescriptive & descriptive D. Inspirational 
226) Traditional mode of education include which of the following 
A. Slates & classrooms B. Proverbs C. Superstition D. Story telling 
227) The teacher's position in the classroom is 
the role of a A. Lecturer B. The head C. leader 
D. Manager 
228) Adult education is the education for 
A. The poor B. The old C. The less privileged D. 
Those who did not attend regular programmes 
229) The history of guidance service in Nigeria 
began in the late 50s through the efforts of 
A. The parliament B. Counselling association 
C.Reverend Sisters at Oke- Ado Ibadan 
D.Catholic priests at Ibadan 
230) Sociology can be defined as a totality of human 
A. Behaviour B. Interaction 
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C. Activities D. Expectations 
231) Teacher's registration council of Nigeria was established by 
what law 
A.Cooperate affairs commission 
B.1999 Nigerian constitution 
C.Act 31 of 1993 
D.2004 act of National Assembly 
232) Homogeneity in society implies 
A. Duplicity B. Heredity 
C. Multiplicity D. Oneness 
233) A nuclear family belongs to A. Two social class B. One social 
class C. Three 
social class D. Multiple class 
234) Abacus numbers are counted in 
A. 1 B. 2C4 D.3 
235) The 6-3-3-4 system of education is derived from which 
country? 
A. USA 
B. Britain 
C. Canada D.Japan 
236) How many zero are in one billion? 
A. 6 B. 10 C. 9 D.12 

PASTQUESTIONPAPER.COM.NG 

For More Exam Past Questions & Answers, Visit: 
https://pastquestionpapers.com.ng Inq: 08029020121 

 

 
PASTQUESTIONPAPER.COM.NG 

For More Exam Past Questions & Answers, Visit: 
https://pastquestionpapers.com.ng Inq: 08029020121 

http://www.careerom.com/
http://www.careerom.com/


  www.careerom.com
  

Follow us:  
Twitter: Careerom_ Facebook: CareerOM Instagram: Careerom_  

 

SECTION C 

. The ultimate goal of curriculum of planning is to 
a. Develop programmes for society 
b. Develop individual skills 
c. Establish more schools 
d. Guide educational programmes 
e. Design teachers' programmes 

 
2. Curriculum design differ primary in 
a. Teaching and learning involves 
b. Principles of teaching and learning 
c. Method, content and structure 
d. Methodology and application 
e. Scope and sequence. 

 
3. Broad - field curriculum design is usually criticized because 
a. It is difficult to organize 
b. Of its cumbersome nature 
c. It does not include fieldtrips 
d. It does not take care of student's interests. 
e. Subject demarcations still exist. 

 
4. Activity curriculum does not require 
a. A lot of instructional materials. 
b. Co-curricula activities 
c. Game and sports 
d. Planned activities 
e. Infrastructure and equipment 

 
5. Tyler's curriculum planning process has 
a. 6steps 
b. 5steps 
c . 4steps 
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d. 3 steps 
e. 2 steps 

 
6. The common features of most curriculum models are 
a. Learning experiences and content 
b. Objectives and learning experiences. 
c. Objectives and evaluation 
d. Organization of content and learning experi ence 
e. Content and evaluation 

 
7. The new UBE curriculum emphasizes 
a. Society-centred learning. 
b. Teacher-centred learning 
c. Child-centred learning 
d. Parent-centred learning 
e. Government-centred. 

 
8 Which of the following is not a method of teaching? 
a. Discussion method 
b. Project method 
c. Interactive method 
d. Power point presentation 
e. Distraction method 

 
9. Agencies of curriculum planning and 
innovation in Nigeria include 
a. NERDCand NAFDAC 
b. NERDCand TRCN 
c. NUCandlCPC 
d. NCCE and NBTE 
e. ICPCandEFCC 

 
10. An importance of a lesson plan is that it 
a. Guides the teacher in the delivery of the lesson 
b. Evaluated the learners in the classroom 
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c. Guides the school in implementing its programmes 
d. Guides the teacher in planning 

 
11. THE guiding principle of the Nigeria traditional education was 
a. Functionalism 
b. Naturalism 
c. Idealism 
d. Realism 
e. Existentialism 

 
12. Islamic Education was introduced to Nigeria in the 
a. 12th century 
b. 14th century 
c. 10th century 
d. 13th century 
e. 16th century 

 
13. Which of these was not a problem in the implementation of 
early 
colonial education programmes? 
a. Lack of central school laws 
b. Lack of standard qualification for teachers 
c. Emphasis on conversion to Christianity 
d. Emphasis on the future leaders 
e. Lack of common syllabus 

 
14. Which of the following was not provided for in the Nigerian 
Education 
ordinance of 1887? 
a. Board of Education 
b. Grant-in-aids to schools 
c. Parents' right to choose religion of instruction 
d. Certification of teacher 
e. Power of Governor to establish and maintain schools 
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15. The UPE scheme was launched in the Western and Eastern 
regions 
of Nigeria in 
a. 1955 and 1958 respectively 
b. 1955 and 1957 respectively 
c. 1954 and 1958 respectively 
d. 1952 and 1953 respectively 
e. 1950 and 1959 respectively 

 
16. Which of the following was not a major problem in the 
implementation 
of the 1976 Universal Primary Education? 
a. Language policy ... 
b. Political discrepancies 
c. Financial problem 
d. Girl-child education 
e. Public enlightenment 

 
17. Which of these is not one of the functions of philosophy? 
a. Analytic function 
b. Speculative function 
c. Inspirational function 
d. Prescriptive function 
e. Descriptive function 

 
18. Philosophy can be described as an activity in three modes or 
styles 
namely 
a. Speculative, metaphysics and 
prescriptive 
b. Speculative, prescriptive and analytic 
c. Speculative, analytic and epistemology 
d. Metaphysics, analytic and Prescriptive 
e. Prescriptive, epistemology and axiology 
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19. Area of Philosophical inquiry include 
a. Metaphysic, epistemology 
b. Metaphysic and mechanism and epistemology 
c. Metaphysics, axiology and materialism 
d. Epistemology, axiology and mechanism 
e. Metaphysics, materialism and mechanism. 

 
20. The school of philosophy of education associated with the 
concepts 
of freedom, choice responsibility and self-reliance is 
a. idealism 
b. realism 
c. existentialism 
d. naturalism 
e. Marxism 

 
21. A factor that is not directly responsible for examination 
malpractices in 
school is 
a. Lack of committed teachers 
b. Religious intolerance 
c. Inability of teachers to make lessons interesting 
d. Inability of school managers to motivate teachers 
e. Student desperation for certificates. 

 
22. In the study of society, the family value commonly 
emphasized is 
a. Polygamy 
b. Polyandry 
c. Serial polygamy 
d. Continuity 
e. Monogamy 

 
23. A theoretical perspective that i? not emphasized in sociology 
of 
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education is 
a. Conflict 
b. Interactionism 
c. Feminism 
d. UBE 
e. Marxism 

 
24. The major consequence of the Western education in Nigeria 
is. 
a. Decentralization of the system 
b. Lack of teacher preparation 
c. Destruction of indigenous cultures 
d. Centralization of the system 
e. Corruption 

 
25. Which of the following is not a factor that holds society 
together? 
a. Participation and interaction 
b. Cohesion 
c. Conformity 
d. Politics 
e. Co-operation 

 
26. Which of the following is not a characteristic of the secondary 
group in 
the socialization process? 
a. Impersonal behavior 
b. Intimate relationship 
c. Indirect contact 
d. Limited face to face contact 
e. Formal behavior 

 
27. The Management of secondary schools in a State is the 
responsibility 
of the 
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a. Schools Board 
b. Ministry of Education 
c. Executive Council 
d. Education committee 
e. NUT 

 
28. Which of the following is a line - staff in a school system? 
a. The teacher 
b. The bursar 
c. The administrative officer 
d. The secretary 
e. The executive officer 
. 
29. Which of the following is not part of the acronym 
"POSDCORB"? 
a. Planning 
b. Coordinating 
c. Commanding 
d. Organizing 
e. Reporting 

 
30. Which of the following constitute the administration of 
school? 
a. Men and women 
b. Staff and students 
c. Academy and non academy staff 
d. Money and materials 

 
31. The Log book keeps records of 
a. Staff movement 
b. Financial transactions 
c. School activities 
d. Students' activities 
e. Teachers' promotion 
32. The control of unity school in Nigeria is the responsibility of 
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the 
a. Universal Basic Education Commission 
b. Federal Ministry of Education 
c. Parent-teachers Association of Nigeria 
d. All Nigeria Conference of principals of secondary schools 
e. State Ministries of Education 

 
33. Which of the following is the primary purpose of school 
supervision? 
a. To determine the competence of teachers 
b. Quality assurance in education 
c. To check student attendance and learning 
d. Quality measures for school management 
e. Quality control in teaching method 

 
34. The supervision of school by an external agent is referred to 
as 
a. Sensitization 
b. Quality control 
c. Inspection 
d. Evaluation 
e. Monitoring 

 
35. Which of the following is not a type of school inspection? 
a. Routine inspection 
b. Follow-up inspection 
c. Recognition inspection 
d. Visitation inspection 
e. Full inspection 

 
36. Modern supervisory technique does not include 
a. Consultation 
b. Participation 
c. Coercion 
d. Dialogue 
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e. Cooperation 
 
37. Which of the following is not a major reason for conducting 
research? 
a. Advancing of knowledge 
b. Creation ideas 
c. Exploring areas of difficulties 
d. Searching for book 
e. Sparking of knowledge 

 
38. A study in which the effectiveness of a particular teaching 
method is investigated is referred to as 
a. Experimental study 
b. Ex-post factor research 
c. Non-experimental research 
d. Historical research 
e. Survey study 

 
39. Action research is one in which 
a. A detailed guide of how to solve a problem is provided 
b. Line of action for solving a problem is articulated 
c. Observable actions are demonstrated by the sample 
d. Recommendations are made for solving a problem 
e. A theory is tested to demonstrate its | efficacy 

 
40. The design in which a selected unit of a population is studied 
and the findings assumed to be the same for members of the 
population is known as 
a. descriptive survey 
b. ethnographic design 
c. historical design 
d. qualitative design 
e. qualitative survey 
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41. Which of the following would least influence the choice of a 
research 
topic in education? 
a. Education relevance 
b. Feasibility of the study 
c. Meeting graduation requirement 
d. Personal competence of the investigator 
e. Research ability of the problem 

 
42. Which of the following is a primary data? 
a. Questionnaire response 
b. Textbooks content 
c. Newspaper report 
d. Journal article 
e. Mimeograph 

 
43. Which of the following response formats is most suitable for 
quantitative analysis? 
a. Binary choice 
b. Close response 
c. Extended response 
d. Likerttype 
e. Semantic differential 

 
44. Measurement is often defined as 
a. The interpretation of test scores 
b. Manipulation of statistical process 
c. Qualification of behavioural traits 
d. Systematic approach to issues of education 
e. Systematic assignment of numbers to attributes 

 
45. The scale of measurement that uses numbers or signs for the 
identification of a group is 
a. Interval scale 
b. Ordinal scale 
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c. Magnitude scale 
d. Ratio scale 
e. Nominal scale 

 
46. Which characteristic feature of continuous assessment 
ensures that the date, time and nature of assessment to be 
conducted is scheduled? 
a. Descriptive 
b. Comprehensive 
c. Cumulative 
d. Guidance-oriented 
e. Systematic 

 
47. The number located in the middle when all the number in a 
distribution are arranged in either ascending or descending order 
of magnitude is the 
a. Mean 
b. Median 
c. Mode 
d. Standard 
e. Variance 

 
48. Which of the following is a psychological requirement for 
conducting a 
test? 
a. Comfortable furniture 
b. Light 
c. Legible prints 
d. Pleasant weather 
e. Ventilation 

 
49. The statistic used in determining the signification of the 
difference 
between two sets of scores is 
a. Chi square test 
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b. Man-whitey U test 
c. One-way analysis of variance 
d. Person correlation 
e. The 'T-test'. 

 
50. Which of the following is a disadvantage of objective tests? 
a. Absence of bias in the scoring process 
b. Coverage of wide content area 
c. Discouragement of superficial study habit 
d. Prompt release of result 
e. Possibility of guessing correctly. 

 
51. Which of the following best describes the element of 
counseling? 
a. Counselee, counselor, institution counseling 
b. Counselee, counselor, institution, problem 
c. Counselee, counselor, institution, interview 
d. Counselee, counselor, testing counseling 

 
52. Which of the following is a professional characteristic of a 
counselor? 
a. Empathy 
b. Nonchalance 
c. Emotional 
d. Smartness 
e. Bravery 

 
53. A counseling centre is best sited in 
a. A class room 
b. The administrative block 
c. An easily accessible block 
d. A hall 
e. A library 
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54. Career-day is best described as? 
a. Information service 
b. Placement service 
c. Referral service 
d. Promotion service 

 
55. The counseling association of Nigeria was established in  
a. 1960 
b. 1968 
c. 1970 
d. 1976 
e. 1986 

 
56. Client- centered counseling approach was pioneered by  
a. Albert Ellis 
b. C.G Bakare 
c. Carl Rogers 
d. Sigmund Freud 
e. Albert Bandora 

 
57. The first stage in the counseling process is  
a. Appointment 
b. Referral 
c. Rapport 
d. Termination 
e. Interview 

 
58. Which of the following is related to career choice 
measurement? 
a. Vocation interest inventory 
b. Student problem inventory 
c. Student habit inventory 
d. Adolescent development personality inventory 
e. Student inventory 
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59. Amnesia is the loss of ? 
a. Sleep 
b. Vision 
c. Memory 
d. Health 
e. Hearing 

 
60. Operant conditioning is associated with  
a. Z.BThorndike 
b. B.F. Skinner 
c. Ivan parlor Abraham 
d. Maslow Albert Bandura 

 
61. Stimulus-response (S-R) is a concept found 
a. Operant conditioning 
b. Classical conditioning 
c. Social conditioning 
d. Moral conditioning 
e. Mixed conditioning 

 
62. Which of the following does not belong to Abraham Maslow's 
theory of 
motivation?. 
a. Self-esteem 
b. Survival 
c. Belongingness 
d. Self-actualization 
e. Aggression 

 
63. Which of the following is not a learning difficulty? 
a. Visual impairment 
b. Hearing impairment 
c. Epilepsy 
d. Speech disorder 
e. Truancy 
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64. In the teaching and learning process, learners mostly 
remember what they 
a. See, read and hear 
b. Read, hear and write 
c. Hear, speak and feel 
d. Are told, hear and copy 
e. Write, hear and say 

 
65. The Suleja Academy is a school for the 
a. Blind 
b. Gifted 
c. Deaf 
d. Dumb 
e. Lame 

 
66. THE four elements of language are 
a. Listening, speaking, reading and writing 
b. Listening, speaking, learning and writing 
c. Seeing, speaking, learning and writing 
d. Seeing, speaking, learning and writing 
e. Learning, listening, speaking and seeing 
f. Listening, speaking, writing and learning 

 
67. Parts of speech in grammar include 
a. Narrative, inferences, adjectives and preposition 
b. Nouns, pronouns, narrative and outlining 
c. Nouns, adverbs, adjectives and preposition 
d. Nouns, inferences, outlining and pronouns 
e. Narrative, adverbs, adjectives and inferences 

 
68. THE techniques used to improve reading reading in the 
classroom 
include 
a. Pleasure and creative reading 
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b. Pleasure and memorization 
c. Creative and silent reading 
d. Creative and memorization 
e. Reciting and chorus reading 
69. The most appropriate place to confirm the availability of a 
book in 
a library is ? 
a. Reference section 
b. Reception 
c. Shelves 
d. Catalogue unit 
e. Reading 

 
70. The earliest components of the communication process are 
a. Noise, messenger and receiver 
b. Messenger, sender and 'noise 
c. Sender, messenger and receiver 
d. Sender receiver and decoder 
e. Receiver, decoder and encoder 

 
71. Books kept in the reference sections of a library are those that? 
a. Can be borrowed out of the Library 
b. Should be used within the Library only 
c. Are used by the Library staff only 
d. Are demanded to interested users 
e. Are outdated 

 
72. Communication models are 
a. Symbolic and replica 
b. Symbolic and dramatic 
c. Dramatic and systematic 
d. Systematic and symbolic 

 
73. One of the teaching strategies that enable learners to develop 
at his 
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rate is 
a. Demonstration of instruction 
b. Lecturing method 
c. Individualized instruction 
d. Group work 
e. Discussion method 

 
74. An adjective helps to 
a. Define a noun 
b. Qualify a noun 
c. Denote a noun 
d. Promote a noun 
e. Describes a noun 

 
75. The printer is use'8 for producing a 
a. Soft copy 
b. Machine copy 
c. Hardcopy 
d. Saved copy 
e. Photocopy 

 
76. documents are saved into 
a. Flash drives 
b. Printers 
c. Joystick 
d. Mice 
e. Keyboard 

 
77. The major components of a computer are 
a. Flash drive, CPU, Monitor, Keyboard 
b. CPU, Monitor, Mouse and Printer 
c. CPU, Monitor, Mouse and Keyboard 
d. Zip disk, printer, keyboard 
e. Monitor, mouse, diskette and CPU 
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78. E-mail addresses can be accessed with the use of 
a. Username and password 
b. User word and domain 
c. Password and keyboard 
d. Password and domain 
e. Keyboard and PIN 

 
79. Papers are best presented in conference using 
a. Microsoft Word 
b. Desktop publishing 
c. Power point 
d. Microsoft excel 
e. Microsoft access 

 
80. the full meaning of ICT is 
a. Integrated communication 
b. Interrupted community technology 
c. Interpersonal computer technology 
d. Informal and community technology 
e. Information and communication technology 

 
81. Panel board has a 
a. Paper background 
b. Wood background 
c. Metal background' 
d. Water background 
e. Blanket background 

 
82. Transparencies are used with 
a. Overhead projector 
b. Overhead lamp 
c. Overhead search light 
d. Overhead camera 
e. Overhead slide 
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83. Which of the following is an application package 
a. Linux 
b. Window XP Professional 
c. MS-Access 
d. Window 200 
e. COBOL 

 
84. Improvisation of instructional medium deals with 
a. Design aids 
b. Visual 
c. Individuals 
d. Pupils 
e. Basic roads 

 
85. One of the components of system approach of instruction is 
a. Research 
b. Stating objectives 
c. Theory 
d. Behavior attitude 
e. The developed curriculum 

 
86. One of the limitations of a flip chart is that it is 
a. Brittle 
b. Large 
c. Energy sapping 
d. Expensive 
e. Not visible 

 
87. The advantage of a still picture as a form of instructional 
media is that 
it 
a. Can be manipulated 
b. Is easy to prepare 
c. Is easy to trace 
d. Requires artistic skills 
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e. Is produced by learners 
 
88. Which of the following is a component of instructional 
system? 
a. Sequence 
b. Practice 
c. Plumbing 
d. Information 
e. Rating 

 
89. Computer can only process data in binary digits which are 
a. 0 and 2 
b. 0 and 1 
c. 0 and 3 
d. 0 and 4 
e. 0 and 5 
90. O n e of the word processing application is 
a. Corel draw 
b. Instant artist 
c. Database 
d. MS word 
e. Spread sheet 

 
91. An example of a high level language is 
a. MS Excel 
b. Window XP 
c. Windows Vista 
d. ORACLE 
e. COBOL 

 
92. One of the advantages of computer based instructions in the 
classroom 
is 
a. Cost reduction 
b. The dramatization of instruction 
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c. Easy memorization 
d. Symbolic presentation 
e. Structural projection 

 
93. How many local government areas are in Nigeria? 
a. 727 
b. 747 
c. 774 
d. 776 
e. 777 

 
94. Which of the following is not a responsibility of NAFDAC? 
a. Manufacturing drugs 
b. Checking fake drug 
c. Inspecting drugs shops 
d. Monitoring the importation of food 
e. Destroying fake drugs 

 
95. The first indigenous university in Nigeria is 
a. University of Ibadan 
b. University of Nigeria Nsukka 
c. Obafemi Awolowo University, lle-lfe 
d. Ahmadu Bello Unieversity, Zaria 
e. University of Lagos 

 
96. What is the motto of UBE? 
a. Education for all is the responsibility of all 
b. Education for one is the responsibility for all 
c. Education for all is the business of one: 
d. Education for one is the business of I one 
e. Education for all is the responsibility o many 

 
97. Which of the following agencies of United Nations are 
responsible for 
the advancement of education 
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a. UNESCO and UNICEF 
b. FAO and UNDP 
c. UNDP and UNICEF 
d. FAO and ILO 
e. WHO and FAO 

 
98. The first curriculum conference in Nigeria was held in 
a. 1970 
b. 1972 
c. 1975 
d. 1977 
e. 1969 

 
99. The first female University Vice-Chancellor in Nigeria is 
a. Prof. Bolanle Awe 
b. Prof. GamboRarabaAdbullahi 
c. Prof. Grace Alele Williams 
d. Prof. JadesolaAkande 
e. Prof. Mary Lar 

 
100. Headquarters of UNESCO is located in 

a.London 

b.New York 

c.C. Paris 

d.Geneva 

e.Washinton D.C 

SECTION D 

Mathematics Past Questions 
1. 
A) 11 
B) 12 
C) √146 
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E) √244 
 
2. Consider the sequence 2, 6, 18, 54, 162,.… If the 48th term is a 
and 
the 51th is b, what is the value of b/a? 
A) 1/27 
B) 1/3 
C) 9 
D) 3 
E) 27 

 
3. What is the value of z, the number of seniors on teams as 
shown in 
the table below? 
A) 360 
B) 420 
C) 200 
D) 1800 
E) It cannot be determined from the information given 

 
4. In the figure above, what is the value of a? 
A) 30 
B) 36 
C) 45 
D) 72 
E) It cannot be determined from the information given 

 
5. At central high school 50 girls play intramural basketball and 
40 
girls play intramural volleyball. If 10 girls play both sports, what is 
the ratio 
of the number who plays only volleyball? 
A) 3:4 
B) 4:3 
C) 5:4 
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D) 4:5 
E) 2:3 

 
6. Maria is 6 times as old as Tina. In 20 years, Maria will be only 
twice 
as old as Tina. How old is Maria now? 
A) 25 
B) 28 
C) 29 
D) 30 
E) 32 

 
7. If a secretary types 60 words per minute, how many minute will 
he 
take to type 330 words? 
A) 11/2 
B) 15/2 
C) 16/3 
D) 17/2 
E) 19/4 

 
8. If Scott can mow 2/5 of a lawn each hour, how many lawns can 
he 
mow in h hours? 
A) 2h/5 
B) 5h/2 
C) h-2/5 
D) 2/5h 
E) 5/2h 

 
9. If it is now June, what month will it be 100 months from now? 
A) January 
B) April 
C) June 
D) October 
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E) December 
 
10. In a group of 100 students, more students are on a team than 
are members of a club. If 70 are in clubs and 20 are neither on a 
team nor 
in a club, what is the minimum number of student who could be 
both on a 
team and in a club? 
A) 61 
B) 62 
C) 65 
D) 70 
E) 75 
Study the chart and answer the questions below it. 
11. In April to June the planned number of flights to Hong Kong 
is 30. What 
is this decrease as a percentage of the number of flights booked in 
January 
to March? 
A) 25.5% 
B) 33.3% 
C) 45.3% 
D) 50% 
E) 66.6% 

 
12. What was the number of UK flights booked as a percentage of 
the 
Malaysian flights if UK flights booked is 20% of the total Europe 
flights? 
A) 15% 
B) 1.5% 
C) 50% 
D) 5% 
E) 35% 
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13. A 10 % discount is offered to flights to Hong Kong booked 
between 
January and March. What was the total cost of all flights to Hong 
Kong in 
the period January to March? 
A) $3500 
B) $17500 
C) $27500 
D) $35000 
E) Cannot Say 

 
14. How many more flights were booked? 
A) 20 
B) 30 
C) 40 
D) 50 
E) 60 

 
15. A student bought 3 notebooks and 1 pen for N35. After 
misplacing these 
items, she again bought 2 note books and 2 pens, all of the same 
type for 
N30. What is the cost of a pen? 
A) N5.00 
B) N7.50 
C) N10.00 
D) N15.00 

 
16. If the simple interest on N2, 000 after 9 months is N6, at what 
rate per 
annum is the interest charged? 
A) 21.4% 
B) 4% 
C) 5% 
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D) 6% 
 
17. A man bought a television set on hire purchase for N25, 000 
out of 
which he paid N10,000. If he is allowed to pay the balance in eight 
equal 
installments, find the value of each Installment. 
A) N1250 
B) N1578 
C) N1875 
D) N3125 

 
18. A car moves at an average speed of 30kmh-1, how long does it 
take to 
cover 200 metres? 
A) 2.4Sec 
B) 24Sec 
C) 144Sec 
D) 240Sec 

 
19. A man bought 2220 mangoes at N5x. He sold each for 3x kobo 
and 
made gain of N8. Find the value of x. 
A) 2 
B) 5 
C) 6 
D) 10 

 
20. The side of a square is increased from 20cm to 21cm. 
Calculate the 
percentage increase in its area. 
A) 2.5% 
B) 9.3% 
C) 10.0% 
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D) 10.25% 
 
21. A house bought for N100,000 was later auctioned for 
N80,000, Find 
the loss percent. 
A) 20% 
B) 30% 
C) 40% 
D) 50% 

 
22. An article bought for D5,000.00 depreciate by 15% of its 
value during 
the first year. Find its value after a year. 
A) D425.00 
B) D750.00 
C) D4,250.00 
D) D4,985.00 

 
23. A trader sold a pair of shoes for C 2,800.00 making a loss of 
20% on his 
cost price. Find his loss as a percentage of his selling price. 
A) 162/3% 
B) 2% 
C) 25% 
D) 75% 

 
24. The price of a litre of petrol is increased from C30.00 to C 
39.00 . What 
is the percentage increase in the cost of a litre of petrol ? 
A) 90% 
B) 30% 
C) 34% 
D) 39% 
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25. A rectangle is twice as long as it is wide. If the width is a, what 
is 
the length of a diagonal? 
A) a√2 
B) a√3 
C) a√5 
D) 3a 
E) 5a 

 
26. Last year Jose sold a painting for $2000. If he made 25% 
profit on 
the sale, how much had he paid for the painting? 
A) $1200 
B) $1500 
C) $1600 
D) $2400 
E) $2500 

 
27. A lacrosse team raised some money. The members used 74% 
of 
the money to buy uniform, 18% for equipment, and the remaining 
$216 for 
a team party. How much money did they raise? 
A) $2400 
B) $2450 
C) $2500 
D) $2600 
E) $2500 

 
28. If the length of a rectangle is 4 times its width, and if its area 
is 
144, what is its perimeter? 
A) 6 
B) 24 
C) 30 
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D) 60 
E) 96 

 
29. If the measures of the angles of a triangle are in the ratio of 
1:2:3, and 
if the perimeter of the triangle is 30 + 10 (3)½, what is the length 
of 
the smallest side? 
A) 20 
B) 18 
C) 15 
D) 12 
E) 10 

 
30. What is the area of Triangle ABC? 
A) 350 
B) 360 
C) 370 
D) 375 
E) 390 

 
31. What is the perimeter of Triangle ABC? 
A) 80 
B) 85 
C) 95 
D) 100 
E) No idea 

 
32. Last year Jose sold a painting for $2000. If he made a 25% 
profit on 
the sale, how much had he paid for the painting? 
A. $1200 
C. $1500 
C. $1600 
D. $2400 
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E. $2500 
Jose made 25% profit, so if he bought the painting for x, he sold it 
for: x + 
0.25x = 1.25x = 2000 ⇒x 
= 2000 ÷ 1.25 = 1600. 
The answer is (C). 

 
33. In the figure below what is the value of b? 
A. 30 
B. 36 
C. 45 
D. 60 
E. 72 

 
34. Since vertical angles have the same measure, c = d, d = a, and 
b = a – b 
a = 2b. 
Therefore, c = d = a = 2b. Also, the sum of the measures of all six 
angles is 
3600, so a + b + c + d + a – b + d = 2a + c + 2d = 360. Replacing 
c, d, and a 
by 2b yields 
10b = 360 ⇒b =36. 
The answer is (B). 

 
35. A lacrosse team raised some money. The members used 74% 
of the 
money to buy a uniform, 18% for equipment, and the remaining 
$216 for a 
team party. How much money did they raise? 
A. 2400 
B. 2450 
C. 2500 
D. 2600 
E. 2700 
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SINCE 74% + 18% = 92%, THE $216 spent on the party presents 
the other 
8 % 0f the money raised. Then: 0.08m = 216 ⇒ m = 216 ÷ 0.08 = 
2700. 
The answer is (E). 

 
36. In the figure below, what is the sum of the degree measures of 
all of the 
marked angles? 
A. 600 
B. 620 
C. 700 
D. 720 
E. 750 
Each of the 10 marked angles is an exterior angle of the Pentagon. 
If you 
take one angle at each vertex, the sum of the degree measures of 
those five 
angles is 360; the sum of the degree measures of the other five 
also is 360: 
360 + 360 = 720. 
The answer is (720). 

 
37. If the measures of the angles of a triangle are in the ratio of 
1:2:3, and if 
the perimeter of the triangle is 30 + 10 (3)½, what is the length of 
the 
smallest side? 
A. 20 
B. 18 
C. 15 
D. 12 
E. 10 
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38. What is the area of Triangle ABC? 
A. 350 
B. 360 
C. 370 
D. 375 
E. 390 
The area of Triangle CDE = 0.5(8)(15) = 60. Since the ratio of 
similitude for 
the two triangles (as 
Calculated in solution C15) is 2.5, the area of Triangle ABC is 
(2.5)2 times 
the area of CDE: (2.5)2 × 60 = 
6.25 × 60 = 375. The answer is (375). 

 
39. What is the perimeter of Triangle ABC? 
A. 80 
B. 85 
C. 95 
D. 100 
E. 105 
Solution 
By the Pythagorean theorem, 82 + 152 = (CE)2 (CE)2 = 64 + 225 
= 289 CE 
= 17. Then the perimeter of 
CDE = 8 + 15 + 7 = 40. Triangles ABC and CDE are similar (each 
has a 900 
angle, and the vertical angle at C are congruent). The ratio of 
similitude is = 
2.5, so the perimeter of ABC is 2.5 × 40 = 100. The answer is 
(100). 

 
40. If the difference between the measures of the two smaller 
angles of a 
right triangle is 200, what is the measure, in degrees, of the 
smallest angle? 
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A. 30 
B. 35 
C. 40 
D. 45 
E. 50 

 
41. What is the area of Triangle BED in the figure below were 
ABCD is a 
triangle? 
A. 12 
B. 24 
C. 36 
D. 48 
E. 60 
You can calculate the area of the rectangle and subtract the area of 
the two 
white right triangles, but don’t. The shaded area is a triangle 
whose base is 
4 and whose height is 12. The area is (4), (12) =24. The answer 
is (B). 

 
42. In an office, there was a small cash box. One day Ann took 
half of the 
money plus $1 more. Then Dan took half of the money plus $1 
more. Stan 
then took the remaining $11. How many dollars were originally in 
the box? 
A. $50 
B. $45 
C. $42 
D. $40 
E. $38 
Solution 
You can avoid some messy algebra by working backward. Put back 
the $11 
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Stan took; then put back the extra $1 that Dan took. There is now 
$12, 
which means that, when Dan took his half, he took $12. Put that 
back, now 
there is $24 in the box. Put back the extra $1 that Ann took. The 
box now 
has $25, so before Ann took her half, there was $50. The answer 
is ($50). 

 
43. Each of the 10 players on the basketball team shot 100 free 
throws, and 
the average number of baskets made was 75. When the highest 
and lowest 
scores were eliminated the average number of baskets for the 
remaining 8 
players was 79. What is the smallest number of baskets anyone 
could have 
made? 
A. 22 
B. 20 
C. 18 
D. 16 
E. 14 
Since the average of all 10 players was 75, the total number of 
baskets made 
was 10 × 75 = 750. Also, since 8 of the player had an average of 79, 
they 
made a total of 8 × 79 = 632 points. The other 2 players therefore, 
made 
750- 632 = 118 baskets. The most baskets that the player with the 
highest 
number could have made, was 100, so the player with the lowest 
number 
had to have made at least 18. The answer is (C)18. 
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44. Karen played a game several times. She received $5 every 
time she won 
and had to pay $2 every time she lost. If the ratio of the number of 
times 
she won to the number of times she lost was 3:2, and if she won a 
total of 
$66, how many times did she play the game? 
A. 30 
B. 35 
C. 40 
D. 45 
E. 48 
Karen won 3x times and lost 2x times, and thus played a total of 
5x games. 
Since she got $5 every time she won, she received $5(3x) = $15x. 
Also, since 
she paid $2 for each loss, she paid out $2(2x) = $4x. 
Therefore, her net winning were $15x – 4x = $11x, which you are 
told was 
$66. Then, 11x = 66 ⇒ x = 6, and so 5x = 30. The answer is 30 

 
45. Since 1950, when Martin graduated from high school, he has 
gained 2 
pounds every year. In 1980 he was 40% heavier than in 1950. 
What percent 
of his 1995 weight was his 1980 weight? 
A. 80 
B. 85 
C. 87.5 
D. 90 
E. 95 
Solution 
Let x = Martin’s weight in 1950. By 1980, he had gained60 pounds 
(2 
pounds per year for 30 years) and was 40% heavier: 60 = 0.40x x 
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= 60 ÷ 
0.4 = 150. In 1980, he weighed 210 pounds, 15 years later, in 1995, 
he 
weighed 240: 210/240= 7/8= 87.5%. The answer is C. 

 
46. Henry drove 100 miles to visit a friend. If he had driven 8 
miles per 
hour faster than he did, he would have arrived in of the time he 
actually 
tokes. How many minutes did the trip take? 
A. 100 
B. 120 
C. 125 
D. 144 
E. 150 

 
47. Two printing presses working together can complete a job in 
2.5 hours. 
Working alone, press A can do the job in 10 hours. How many 
hours will 
press B take to do the job by itself? 
A. 10/3 
B. 4 
C. 5 
C. 25/4 
E. 15/12 
Multiply each term by 10x: 2.5x + 25 = 10x 
.Subtract 2.4x from each other: 25 = 7.5x 
. Divide each side by 7.5: x = 3 hours. The answer is A. 

 
48. If flyers for Aardvark Cellular cost $150 per thousand. 
Approximately, 
how many thousand have been produced? 
A. 23 
B. 20 
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C. 17 
D. 14 
E. 18 
Answer: B 

 
49. Express ¾ as a decimal fraction 
A. 0.85 
B. 0.75 
C. 0.65 
D. 0.45 

 
50. Find the simple interest of N700 for 2 years at 3% per annum 

A. 32 

B. 42 

C. 52 

D. 62 

SECTION E 

English Language/Verbal Reasoning Past Questions 
 

Lexis and Structures: 
From the words given in A, B, C, D or E, choose the word or words 
nearest 
in meaning to the one printed in italics in the sentence. Write your 
answer 
in the space provided on the left of the question number. 
1. Last night, I heard a Peculiar story about the activities of ghost. 
a. True 
b. Special 
c. Short 
d. False 
e. Strange 

 
2. That cheat of a boy cleverly imitated his father’s handwriting. 
a. Copied 
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b. rubbed out 
c. signed 
d. wrote 
e. scribbled 

 
3. Mrs. Agu had to mend her basket before going to market this 
morning 
a. Make 
b. weave 
c. get 
d. sew 
e.repair 

 
4. Obi was very inquisitive during the lecture and was always 
asking 
question. 
a. Interested 
b. clever 
c. queer 
d. curious 
e. active 

 
5. He was generous and shared what he brought with his friends 
a. Gentle 
b. polite 
c. unselfish 
d. greedy 
e. sorry 

 
6. This is a rather expensive dress. 
a. Cheap 
b. poor 
c. gay 
d. costly 
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e. dark 
 
7. Dr. Akin said the patient was much better and quite cheerful. 
a. Happy 
b. noisy 
c. hopeful 
d. talkative 
e. curious 

 
8. I can’t buy that book, so I’ll manage with this one 
a. Read 
b. repair 
c. try studying 
d. make do 
e.mend 

 
9. Ngozi whispered the answer to me when the teacher turned 
away. 
a. Shouted 
b. passed 
c. quietly said 
d. slowly said 
e. gave 

 
In each of the following sentences, choose from A, B, C, D, E, one 
word or group of words which correctly fills the gap in each 
sentence. 
Write your answer A, B, C, D, or E in the space provided at the left 
hand. 

 
10. Alice was tired as they were  
a. So 
b. too 
c. as 
d. more 
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e. better 
 
11. Peter likes English than social studies 
a. Much 
b. better 
c. better 
d. as 
e. least 

 
12. You won’t catch the bus you run. 
a. Before 
b. as soon as 
c. since 
d. unless 
e. as 

 
13. I did the work you told me to 
a. Before 
b. until 
c. unless 
d. if 
e. for 

 
14. I do not know if they are going, but if they , she will be 
happy 
a. Will be going 
b. were going 
c. had gone 
d. go 
e.will go 

 
15. I asked if it found. 
a. Is 
b. has 
c. has been 
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d. have been 
e. were 

 
16. The whole school to the football match next Saturday 
a. Went 
b. go 
c. has gone 
d. are going 
e. is going 

 
17. When you will you please help me? 
a. Had finished 
b. finish 
c. finishes 
d. to finish 
e. are finished 

 
18. If you are not careful, you that water 
a. Will spill 
b. were 
c. are spilling 
d. spill 
e.split 

 
19. He did read it, he? 
a. Does 
b. doesn’t 
c. hasn’t 
d. didn’t 
e. aren’t 

 
20. You weren’t ready, you? 
a. Are 
b. weren’t 
c. were 
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d. don’t 
e. aren’t 

 
21.I haven’t hurt him I? 
a. Hadn’t 
b. haven’t 
c. am 
d. have 
e. did 

 
22. “I have used all my ink,” said Ngozi 
a. Around 
b. down 
c. up 
d. over 
e. on 

 
23. The train will leave six o’clock exactly 
a. In 
b. by 
c. on 
d. to 
e. at 

 
24. We do not know the exams result  but we will 
know them by next week 
a. Just 
b. then 
c. although 
d. even 
e. yet 

 
25. Jane will continue to get low marks she works harder 
a. Although 
a. Although 
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b. even 
c. however d. unless 
e. because 

 
 
Complete the following sentences with one of the given 

five endings below 

26. He swept so bitterly  

a. To be consoled by everybody 

b. Because he was consoled by everybody 

c. That everybody consoled him 

d. For he was consoled by everybody 

e. As to be consoled by everybody 

27. Do you prefer coffe ? 

a. Than chocolate 

b. or chocolate 

c. from chocolate 

d. to chocolate 

e. by chocolate 

28. if Obi had been a good boy  

a. he will finish is work 

b. he has finished his work 

c. he would finish his work 

d. he would have finished his work 

29. Ifeoma is different  

a. From the other girls in the class 

b. With all the other girls in her class 

c. By all the other girls in her class 

d. To all the other girls in her class 
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e. Among all the other girls in her class 

30. Either of those books  

a. Are hers 

b. is hers 

c. are her’s 

d. is hers’ 

e. were hers. 

Choose from the list of words lettered A, B C, D and E the one 

which has the opposite meaning or almost the opposite meaning 

to the word in italics 

31. John is always punctual to school 

a. Smart 

b. slow 

c. fast 

d. tidy 

e. late 

32. He is an honest steward indeed. 

a. Good 

b. dishonest 

c. bad 

d. fine 

e.clever 
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33. The juice is sweet 

a. Lovely 

b. nice 

c. sour 

d. bitter 

e. bad 

34. He was a powerful king 

a. Strong 

b. weak 

c. new 

d. wretched 

e.miserable. 

35. Yours is a modern house 

a. Beautiful 

b. ugly 

c. new 

d. respectable 

e.old 

36. It could be dangerous to drive at night 

a. Risky 

b. pleasant 

c. delightful 
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d. safe 

e.exciting 

37. Ada received many presents on her birthday. 

a. Got 

b. gave 

c. kept 

d. posted 

c. lost 

Below each of the following questions are five sentences or group 

of words lettered A to E. choose the sentences or group of words 

that is the best answer to the question 

38. Will they be able to complete the work before Christmas? 

a. No, they won’t 

b. It is true 

c. Yes, at Christmas 

d. I don’t know. 

e. No, they haven’t 

39. How can the government help the people in the villages? 

a. By paying their taxes for them 

b. By villages are dirty 

c. By providing them with light and water 

d. Village schools are old 

e. The village are few 

40. Why didn’t you buy the shirt? 

a. It isn’t right size 

b. it is good 
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c. I am going to iron it d 

d. Ididn’t buy the shirt 

e. I like shirts. 

41. Have you any letters for him to take home? 

a. Yes, I have three 

b. No, he hasn’t got them 

c. Yes, I have read the letters 

d. Yes, I have none 

e. Yes, he has gone 

42. What were you doing when I came in? 

a. The food wasn’t ready 

b. I didn’t see you 

c. Eating 

d. You arrived early 

e. You should not have come 

43. How long does it take to walk from one end of the town to 

another? 

a. Five kilometers 

b. it’s not far 

c. an hour and half 

d. it’s a big town 

e. the town is beautiful 

 

Choose from the list of words lettered A to E the one which has 

almost the 

same meaning as the world or group of words underlined in the 

sentence. 
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44. The teacher was annoyed with the class 

a. Angry 

b. pleased 

c. confused 

d. amused 

e. disagreeing 

45. The man was of average height 

a. Great 

b. medium 

c. very small 

d. strange 

e. unusual 

46. James found a pen for Anne when he had lost hers 

a. Manufactured 

b. bought 

c. provided 

d. stolen 

e. sent 

47. I used to see him frequently 

a. Late 

b. sometimes 

c. quickly 
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d. generally 

e. often 

48. He walk rapidly to the bank of the river 

a. Specially 

b. steadily 

c. quietly 

d. quickly 

e. gradually 

49. He says we are going to have a bright day 

a. Busy 

b. never 

c. curious 

d. sunny 

e. hopeful 

Below each of the following sentences are five question lettered 

A to E. choose a question that brings out the sentence as its best 

answer. 

50. Bolupe is 

a. Who else is coming with us? 

b. Is Bolupe coming with us? 

c. Did Bolupe say she wants to come with us 

d. Has Bolupe agreed to come with us? 

e. Why is Bolupe coming with us? 
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